MIDTERM 1

Problem 1. (Multiple choice, 10 pts) Evaluate the limit
In(z?)

lim
z—1 g —1
Indicate your answer in the box below:
C, (a) 1; (b) % ; (€) 2; (d) oo; (e) None of the above.
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Problem 2. (Multiple choice, 20 pts) Let f(z) = 4z +cos z. Find the value of the derivative
(f7')'(2m). Indicate your answer in the box below:

EOL] (a) 1/3; (b) 1/5; (c) 27; (d) 0; (e) None of the above.
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Problem 3. (Multiple choice, 10 pts) Evaluate the limit
lim (1 + 3z)= .
z—0

Indicate your answer in the box below:

—

E] (@) 1; (b) o0; (c) 4; (d) 9; (e) None

of the above.

3.
. 2 . In (143%) =
b 437 = Lim e
xX>o )0
2 —ev\(\-ﬂx)
= fiom 2 X
%0
o, 3 (3%
= @ X0 X I ) g
\ 3 (\+3§x ) & :
Uiy Hlorpteds ke, Mo TN n T g
3
X

Howt  Qwn (32)7= e”

XDO



MIDTERM 1

Problem 4. (25 pts) Use integration by parts to evaluate the definite integral

1
/ e*sinr dz
0
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Problem 5. (35 pts) Let f(x) = ze”. Sketch the graph of f. Be sure to indicate convexity,

asymptotes and extreme points.
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